Subject: Re: findgen anomaly?
Posted by Kenneth P. Bowman on Sat, 11 Jul 2009 12:07:23 GMT

View Forum Message <> Reply to Message

In article
<70fcb4fd-047f-43d5-a67a-2e2a5ccefa62@h8g2000ygm.googlegroups.com>,
Chris Chronopoulos <chronopoulos.chris@gmail.com> wrote:

> Thanks, David. That makes sense - | guess FINDGEN floors its input
> instead of rounding it. | stuck a ROUND in there, and it works like |
> want it to.

Strictly speaking, | think it LONGs the argument (rounds toward zero by truncating
the fractional part). Because a negative argument would generate an error,
the difference is moot.

Ken Bowman
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